_ Section-I (Objective) Pr- Anil Kumar Singh
Model Question-i — e Dept. of Chemistry

A. N. College, Patna

In the following questions nos 1 to 35, there is only correct an-
swer against each question. For each question mark the correct
option on the answer sheet.

1x35=35
A=feifaa go7 &7 1 & 35 db & gdd gIT & [o/v U &

Aoy wel 81 ydaw gs7 & w&l oy, oav g4 § [afsd #v/
1x35=35

1. Anionic compount has a unit cell consisting of 'A’ ions at the corners
of a cube and 'b' ions on the centres of the faces of the cube. The
empirical forumula for this compound would be
a. AB b. AB c. AB, d. AB
T afe AfTe # Aion 3HE A @ 89 @ SV IR & TT B ion Herdhi
P Bl W ®, 39 JINTH Eﬁr ReITH G BN |
a. AB b. A,B c. AB, - d.AB

2. Which one of the following is not a colligative properties ?

a. Osmotic pressure b. Elevation of boiling point
c. Vapour pressure d. Depression of Freezing point

frfeRad # PIF o7v] W& 0T T8 7 |

P, URIRUT 19 Y. FIIATH BT I
T, 919 q1e g, BH® B g
3.  The relative lowering of vapour pressure of a solution of 6g of urea
in 90g of water is equal to
a. 0.02 b. 0.04 c. 0.60 d.-0.03
Te Bl ORI 63T IRAT 90UT Tt H SURLIT &, IHHT aTw &6 H HTUfETD
3t fferRad # fhd & awraR € °?
a. 0.02 b. 0.04 c. 0.60 d. 0.03



The unit of specific conductance is

a. Ohm cm™’ b. Ohm cm? c. Ohm' cm"’ d. Ohme! cm?
fafere aTeTerdr &1 SHhTs BT 2
a. Ohm cm-’ b. Ohm cm™ c. Ohm' cm’ d. Ohm' cm™

The rate at which a substance reacts depends upon its

a. Atomic mass b. Equibvalent mass

c. Molecular mass d. Active mass

ool yerel & srfafhar @1 <R FferRad # g o= fk ovar &
P, URATY TIHH g, AT SgHT

T, 37V] EHH T, Aidg |

Fogg is a colloidal solution of

a. Liquid particles dispersed in gas

b. gaseous particles depersed in liquid
c. Solid particles dispersed in gas.

d. Solid paricles dispersed in liquid
HEAT Bldlss! e o

@. 59 BT 19 H gRfera <&d 2 |

Q. /I w7 &9 § aRfera & 7 |

T, 31 BT g9 ¥ uRfera wed €|

T 3 HUT A9 H gRféra w'd 2

Shulphide ores are generally concentrated by

a. froth floatation process b. Roasting

c. gravity d. reduction of carbon

ADTSS 3TIXD] BT Arwol Ui FrfaRad # foe fafer g favan Simar € 2
F. B IAEA A W GRU N [ H. BT D GRT IR0

Ammonia can be dried by

a. CaO b. PO, c. conc. H,SO, d. Cacl, (anh)
rfear @1 ffalRad # fhde gRT g fobar Sirem & 2
a. CaO b. PO, c. conc. H,SO, d. Cacl, (anh)
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9.  Which of the following has highest bond energy /

a. 0-0 b. s-s c. Se-Se d. Te-Te
fFeforRad # fhadT a7 o1l e 31fds © 2
R a. 0-0 b. s-s c. Se-Se d. Te-Te

10.  Which of the following ions is colourless ?

a.Cu* b. Co* c. Niz* d. Fe*

fAfeRaa § SH—31 3T FIEH 8 7

a.Cu* b. Co? c. Nzt d. Fe*
11. Which one of the following is diamagnatie

a.Cr b W2 Lo &. 8c d. Ti**

fr=ferRaa # o fagea § ?

a. Cr¥ b. V* ¢ Bkt d. T
12.  The hybridization of Ni in Ni(co), is

a. sp b. sp? c. sp? d. dsp?

Ni(co), & Ni®T JHHRT 8
a. sp b. sp? c. sp® . d. dsp?

13.  Which of the following alkylhalide is hydplysed by SN' mechanism ?
a. (CH,),CH b. CH,CH,x c. CH,CH,CHx d. (CH,),Cx
f=faRaa & foa Uewrd Tarss &1 ST SN srfifshar & giar © 2
a. (CH,),CH b. CH,CH_x c. CH,CH,CH.x d. (C~H3)éCx

14. Catalytic dehydrogenation of primary alcohol gives a/an

a. ketone b. ester c. Secondary alcohol d. aldehyde

YIsT) Vohled & SR SETgSIoHIeRol I Ui 8l & 7
a. ketone b. ester c. Secondary alcohol d. aldehyde

15.  Which of the following compound is the most reactive towards

nucleophilie addition ?

a. CH,COCH, b. CH,CHO
c. C,H,COCH, | d. C,H,COCH,
fe=forRaa o o9 e Tve<s! armeia trf%r@v—m 3 gfd ggd TeT

\ ,\)4\/\/}
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gfafsareie g ?

a. CH,COCH, b. CH,CHO

c. C,H,COCH, d. C,H,COCH,

Which of the following pairs do not form ideal solution ?
a. C;H, and CCl, b. C,;H, and C.H.CH,
c. C,H,Brand C,H,| d. (CH,),CO and CCII4
fafoRaa # SIF—1 SireT Sest °id &I AT 981 Har ®
a. C,H, iR CCl, b. C,H, 3k C,H,CH,

c. C,HBr iR C H,| d. (CH,),CO &Rk CCl,
Which of the following doesnot give lodeform reactin ?
a. CH,CH,OH b. CH,OH

c. CH,CHO d. C,H,COCH,
frforRaa § i sMEgIer STffkar 78l <ar § 2

a. CH,CH,OH b. CH,OH

c. CH,CHO d: C;H.COCH,

Which of the following is not a member of 3d tansition series ?
a. Ti b. V c. Cu d. Ag
fa=faRaa & @19 3d HHA SO0 FHT W Bl § 7

a. i b. V c. Cu d. Ag
Ozone tails mercury. This is due to the formation of

a. HgO b. Hg,O, c. Hg,O d. HgO,

TSI URT B FITIATT T FAT HRal ©, Jg freferRad # fo oo
P HRUT BT & 7
a. HgO b. Hg,O

Gold number is a measure of the

b c. Hg,O d. HgO,
a. Pratective acion by a lyophilic colloid on a lyophobic colloid.
b. Protective action by a lyophobic colloid an a lyophilic colloid.

c. Number of mg of gold in a standard red gold sol.
d. Stability of gold sol N D
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23,

24.

25.

TS T A9 © 7

®. AIfhieTs Ald & §RT ATABING Al &I 6T efHar &l
. ARGIAS Aiel & gRT Adithicld Aidt B &T0T T Bl
. IR oTe Tiee Aidd § Ties @ fAoUT0 &1 G¥=r &l

g, Tes Aid & RRE Bl

Which of the following is used as Formalin.

a. HCHO b. CH,CHO

c. CH,CH,CHO d. CH,COCH,

frforRea @ e ST ®Hifes & w9 # 811 8 ?

a. HCHO b. CH,CHO

c. CH,CH,CHO d. CH,COCH,

Dilute and slightly alkaline KMnQ, is called

a. Fenton's reagent : b. Lucas reagent

c. Baeyer's reagent d. Tolleus reagent

T Ud 31e &g KMnO, & ©1dl @1 &1 8l Sl & 7

®. e AMHHD Y. gD ANHHD

T RR D T, e 1 e

The most common and stable oxidation state of lanthanide is
a. i b. +IV c. +VIl d. +li
AITTSE B I AT UG WIRAT STRIIHR0T TR &

a. +ll bk~ o c. +VII d. +lli

IUPAC name of K,[Fe(CN),] is

a.Potassium ferrocyanide b. Potassium ferricyanide

c. Potassium hexacyano ferrate (I1) d. Potassium hexacyaoferrate (lll)
K,[Fe(CN),] @1 IUPAC ™ 2 |

%, TICRTH BRNITEISS . qICRE BINgTES

T. AR gerIrEAr wee (1) g, Trefem tearrEmYe (1)
Which of the following is a bidetate ligend ?

a. EDTA b. Ethylenediamine <«
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1.

32.

33.

34.

c. Carbonic anhydrase d. Chlorophyl
Which one is a natural polymer ?

a. Protein b. Cellulose

c. Rubber d. All of the above

frfaRad & o gefas agas & ?

®. YIS . ATt
T, &R o, Iugdad H |

Which of the following is not a broad spectrum antibiotic ?

a. Tetracycline b. chloromycetin
c. Penicillin d. Ampicyline
fereforRad & & e WaeH Ufearafed w81 8 ?

. STTEaR @, TR
T, GTet= g, YAIRTel

The conversion of A— B follows second order kinetics. Doubling
the concentration of A will increase the rate of formation of B by a
factor of

a. ‘11 b. 2 c. d 4

A— B &1 uRad= fgda aife @ aififspar €| afe A &1 g1 ST &N
fear S ar ufafsar &1 ) Fr=foriad § Si9—ar1 qore 3 967 8 ?

N [—

a.l b. 2 c.t d. 4

4 2
The temperature co-efficient of most of the reactions lies between
a.1and 3 b.2and 3 c.1and 4 d.2and 4

 rfrarer gfifharent @ forw amm o freferiad # fhae 4 grer g 2

$.17d 3 Q. 2 Td 3 T.1 T 4 g 2Td 4
The cell reaction in Daniell cell is

a.Zn + Cu —> Zn# + Cu?*

b.Zn* + Cu?®* —> Zn+Cu® ,
g Zn+Cu® —= Zn?* + Cu %J‘b

d. Zn* + Cu®* — Zn+Cu




35.

ST da H BHaTell oot rfAfhar 7|

a.Zn+Cu — Zn* + Cu?

b. Zn** + Cu#* —=  Zn ¥ Cu?

c.Zn+Cu* —> Zn?*+Cu

d. Zn* +Cu* ——= Zn+Cu ”
The amount of electricity that can deposit 108g of silver from silver
nitrate solution is

a. 1 ampere b. 1 Coulomb

c. 1 Faraday d. 2 ampere

RfeaR 13T & ©lel 1 108 UM RieeR Jadd o7 @ forg fagd awr &) o
AT B ARGl Bl 2, 98 8

F. 1 THRR . 1 Had
T. 1 RIS ¥, 2 VAR




Section-ll (Non-Objective Type)

Tue—|| (R—ags)

There are 15 questions of short answer type each carrying 2 marks.
Answer any ten out of 15 questions.

| 10x2=20
TE FTNT GBIV B ol 15 Y97 8 forwd gcdad & o1y Fof 2 b
g1 g8 & 10 g¥l @& 9w ford |

10x2=20
oY SR Y

| (Short Answer Type Questions)

1. Explain the terms space lattice and Unit cell.
BTN SITAD TG Shls Aol hl THSM |

2.  Give the units of specific conductance and molar coductance.

fafere areTRdT U9 Ao ATeIdhdT B IHIe 9T |

3. A°m for Nacl, Hcl, CH,COONa are 126.4, 425.9 and 91.0 S cm? mol”
respectively. Calculae A° for CH,COOH.
3= a9 W Nacl, Hel gé CH,COONa @7 3oTfdd aTefddl shsT: 126.4,
4259 TAT 91.0 S cm? mol' & | 3= e WX CH,COOH @ arorfaes
TTADBAT BT T BN |

4.  What are Lyophilic and Lyophobic colloids ? Explain with one example
of each.
2g—FE] AR AR dregs 59 FEd € | Ud &I Th—Ud Iarexol
Afed quie &N |

5. Why cryolite is used in the extraction of Aluminium metal ?
VAR arg & Ry # wrilarge B SudT bl fhar S § 2

6.  Write structure of the following compounds.

o




10.

1.

12.

13.

14.

18.

famferRad Al & dem T 93 fordd |
a. 2-Chloro-3-methyl Petane b. 1-Chloro-2-methylbenzene
What reaction takes place when bleaching powder is distilled with

alcohol ?

eIl Ud favste 2ol &7 Waur oy W PIH—T AfAfhar g1t € ?

How will you convert the following ?

fafearRaa &1 & uRafda s ?

a. Ehanoic acid into methylamine
SIS T | RIS

b. Benzene to aniline
CEIERCREIIE]

Name the sources in which the following Vitamins are found and

disease which are caused by their deficiency
frfofRaa foeif®=l & R O9 & S 9d1d Td S99 Scd— 81 dTel A
BT gdTd |

a. Vitamin A b. Vitamin B, (Thiamine)
Write the properties and uses of natural rubber.
TR TaR B 0T Gd oA ford |

What is soap ? What is saponification ?

HIg R 8 ? AIGAIDRO] T Bl ® °

Differentiate between order and molecularity of a reaction.
arfafehar @t Pife iR JUfehdr H TR 9T |

Define Physical and Chemical adsorption with suitable examples.
ITTEROT B A1 i fRrEnyor R A SRy @ aR|TeT N |
Why do transition elements form complex compounds ?

HerHvl deg Sifed Afirdt o1 Ao Ff e § 2

Classify carbohydrate with suitable examples.

HIETEGST BT IR ISERVNIRd B |

o




Long Answer type questions

e S gy

Question nos 16 to 18 are of long answer type. Each question car-

ries 5 marks.

g &7 16 W 18 H ST BV # 81 §RAF B o0 5 IF [rEiRa 2

16

Or,

Or,

17

Or,

(@)  What is Osmosis ? Differentiate between Osmosis and diffusion.
URTERYT 6’7 B & ? URIROT U9 =0T # ofeR W a% | 02

Differentiate between Ideal and Non-ideal solution

3meel vd sfereel Gl ¥ R W o |

(b) What is Ist order reaction? Give two examples of Ist order
reaction. Write the equation of rate constant of Ist order reaction
explaining the terms involved in it. 03
Yo HIfE &1 STffhar @ & ? verm B B ST BT < SeTEwy
<1 Y BIfe B Iffhar & 97 Rerier & oy wfiawor fored v
S |fferd deat Bl W aY |

A first order reaction takes 20 minutes for 25% decomposition.

Calculate the time when 75% of the reaction will be completed.

Given Log2 = 0.3010, log3 = 0.47771, log4=0.6021.

TE T BIfC @ AR Bl 25 gl qof B ¥ 20 e e o &

o S¥ AT & 75 uferera B gof @19 A fder wHg o |

fear w1 8 : Given Log2 = 0.3010, log3 = 0.47771, log4=0.6021.

a.  Discuss the principle of synthesis of ammonia by Haber's
process. 03
BIR Al 9 M & wous &1 Rigra ford |

How does copper react with nitric acid in different conditions ?

PR &1 fafi= Rerfoail & Tefew ora 9 o goR aififisar @war 2 7
,/(\(,{g@

NG




18.

Or,

Or,

b.  Explain H,S is only a reducing agent where as SO, is both

oxidising as well as reducing agent. 02
gard B! 1 H,S Rt 3qeRe € Siafd SO, SRiibRe Ud sqdhRen
SFl B |

a. What are alcohols ? How would you classify monohyric alcohol?
Vehled fbd YR & AfE B ? AFRRisd Vehiaid BT daiihRo
foe yeR fovar Siar € °? 03

How would you obtainthe following from ethyl alcohol ?

a. Acetylene b. Acetone c. Diethyl eher

Ui Uoplareal O fa=forlRag difie frd yR 90 S 2 2

®. VIt . WiTerH RASIENRERRK

b.  What is Rosenmund reaction ? 02

oHE rffshar @ & ?
What is cannizzaro reaction ?

SR aTfafsar @ar € ?

e




Blue Print CHEMISTRY
. ..| Short Long
Unit Chapter Weightage Ob\icu answer answer | Total
type type
I |[Solid state 4 1 2 4
IT |Solution 5 3 2 5
III |Electrochemistry 5 3 4 5
IV [Chemical Kinetics 5 3 2 3 6
V |Surface Chemistry 3 2 4 7
General principle
and processes of
Isolation of
VI |elements 3 1 A
VII |p-block elements 8 3 2 5 10
d & f block
VIII |elements 5 5 2 5
Co-ordination
IX |[compounds 3 3 1
Haloalkane and
X |Halogarenes 4 1 2 4
Alcohols Phenols
XI |and Ethers 4 2 2 3 6
Aldehydes ketone
and Carboxylic
XII |acid 6 3 2 8
Organic compunds
XIII |obtaining nitrogen 4 2 2 2
XIV |Biomolecules 4 s 3 4 2
XV |Polymers 3 1 2 2
Chemistry in
XVI |everyday life 3 1 2 2
35 30 15 70
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